Conservation of Momentum
1. A mass of 6.0 kg travelling North at 2.0 m/s collides and coalesces with a second mass of 3.0 kg travelling at 3.0 m/s South. Find the velocity of the combined mass.
2. A mass of 3.0 kg travelling at a velocity of 1.0 m/s East collides and coalesces with another mass of 2.0 kg travelling at 0.5 m/s East. Calculate the velocity of the combined mass.
3. A stationary mass of 10 kg splits into two parts. One part of mass 6.0 kg moves North at 3.0 m/s. Find the velocity of the other part.
4. A mass of 3.0 kg travelling East at 1.0 m/s collides with a stationary mass of 2.0 kg. If the 2.0 kg mass moves off at a velocity of 1.0 m/s, calculate the velocity of the 3.0 kg mass.

5. A mass of 4.0 kg travelling South at 5.0 m/s collides with a mass of 6.0 m/s travelling at 2.0 m/s North. After the collision, the 4.0 kg mass moves off at a velocity of 1.0 m/s South. Find the velocity of the 6.0 kg mass.
     Answers

1. 0.3 m/s North

2. 0.8 m/s East

3. 4.5 m/s South

4. 0.3 m/s East

5. 0.67 m/s South
